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or mutilate your OMR Answer Sheet.

9, s w8 Bled

qfe 9 91y o

8 T A OMR I T e ot dig ¥ o oreh v
S HHA & |
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x + 3a

xX+a
x+b x+a+b wga%.

(A) 2a-b (B) a-2b
-(C) a+2b (D) 2a+b
. X+a X+ 3a

The solution of = is

_ x+b x+a+b

(A) 2a-b B) a-2b
(C) a+2b (D) 2a+b

2, -ﬁﬁA:B, A+ x:B+x% I 4 8, @ x2

(A) AB

(C) A%B?

If A: B is in the duplicate ratio of A + x: B+ x, then x?

(A) AB

(C) A2%B?

3. -(3b-2c-2a)® {2 (a+c)-3b}® Tym am

A

(B) B
3
(D) o

A
(B) B
A2
(D) 2

(A) (2a-3b+2c)? (B)
©) (2a+3b- 2¢)? (D)
"["5;';};?}'"]' ....................... Tsfﬁg;ﬁﬁ;ﬁ%g ..........

(-2a+3b+2¢)2

(2a+ 3b+2c)?




The square root of — (3b-2c-2a)3 {2 (a+c)-3b}will be
(A)  (2a-3b+2c)2 (B) (-2a+3b+2c)® -
(C) (2a+3b-2c)? D) (2a+3b+2¢c)%"

4. T T o SR of ) s oy 3 A o O T A
< U ER IR W Y I w1 6 g B g@ T o, 3 TR
|1 qE TR W A T R wgw g H A TR FE

I g ?
(A) B F=TAE . B) 5
© 4 o 3

The united ages of a man and his wife are six times the united ages
of their children. Two years ago their united ages were ten times
the united ages of their children, and six years hence their united

ages will be three times the united ages of the children. How many

children do they have ?
(A) Nochild . (B) 5
C) 4 AT D) 3

-  (x-7) 1 _ (2x-15)
5. xFUER: Co7ytgRe7) T (2x-6)

(A) % '(B) -Z—
(C) 131 (D) 8

..............................................................
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------------------------------------------------------

[ 25987 | [TsTMs/VII1/1/803 4/16




L (x=7) 1 _ (2x-15)

Solve for x: (x+7)+2(x+_7) = (2% =6
"3 : . 7
@ 3 B)
© L D) 8

2

(A) 2ab(a;2b)(2a+b)
(B 2a°b® (a-2b(2a+b)?.
(C) 2a?b? (a—2b)2(-2a+.b) ,

(D) 2ab(a-2b)2 (2a+b)2

" The L.C.M. of (a2b-2ab? )2, (2a®-3ab-2b°) and

z(za? +ab )? is

(A) 2ab(a'—2b)(v2a+b)'
(é) 2a2b2(a—2b)2v(2a+b)2
(©) é.a?b2 (a—-2b )'2( 2a+ b)

(D) 2ab(a-2b)? (2a+b)?
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X+Y X+ z y+z
@) 760 ' (B) 735
(C) 294 (D) T @ I T
if =2 =70, 2 -84, yz_ 140, thenx+y+z =
xX+Yy : X+ 2z y+2z :
) 700 B) 735
(C) 294 ' (D) mone of these

e efs.e or Uil &
(A) 4(J§+J§) . C(B)  4(¥3-42)
€ 2(J2+43) (D) 2(J§'.—‘J§)
‘Thevalﬁéof V8 + 450 - V18 + /48 is
@ 4(3+43) @ 4(SH-43)
(C). 2(42 +43) D) 2(J3-42)

9.  Upudl mTAH 4ﬁ?€¥ﬁmélsﬁ§aﬁ»_}6aﬁﬁﬁawéﬁam
=ifew arfer 3t fq 7w 7:15 = /& | TF ?

(A) 5ue 58 e (B) 5% 50 fme -
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10.

11.

A

A clock gains 4 minutes a day. What time should it indicate at

6 O’clock in the morhing in order that it may be right at 7:15 in the

evening on the same day ?
(A) 5 hrs. 58 mins. (B) S hrs. 50 mins.
(C) Shrs. 10 rhins. (D) S hrs. 20 mins.

@mwmmﬁm%msﬁ @ b, cH ¥ TOF AET H A T
T ], @ WG Pt aare # @

N ac - b2 - ac + b2
a+.c-2b a+c-2b

€ ac - b> I f(D) ac + b2
a+c+2b a+c+2b

Find a quantity such that when it is subtracted from each of the

quantities a, b, ¢ the remainders are in continued proportion.

1.2 . L 12

ac - b ac+b
s . B ——~ _
(A) a+c-2b ®) a+c-2b
e ac — b? | (D) ac + b2
) a+c+2b .a+c+2b

@aﬁaﬁ@gmaﬂ(maﬁ%@ﬁmﬁmﬁﬁa@mﬁw%
CELSIEICCRIG i |
(A)

L
V2

(€)

N
E
N

--------------------------------
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The ratio of the areas of an equilateral triangle described on one
 side of a square and one diagonal of that square is

() j% B 2
| © 3 D) 2

12. Qmmangﬁrga ABC#, D, ¥¥1 BC'R T farg 7 HR & 7% 3BD = BC

@ AD? =
: 5 - ‘ 7 2
(A) AB (B) . 5AB
} 9 aAp2 . ~ Sl g
| € =AB . D) 3 AB
[ ,
l _ In an equilateral triangle ABC, D is a point on side BC such that
3 3BD = BC then AD? = |
2 7 2
(A) AB* . B) g AB
\ _9- i : . l ,
(€ = AB D) 3 AB
N 13, 12, 22, 32 ...,(2n-1) ® W= dm
(n+1)(2n+1) Con(n+1
(A) 3 (B) ( )(2n+1)
6
n(4n-1
©) ( ) o " (4n +1)

-------
..............................................................
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The mean of 12, 9= 3%,

i (n+1)(2n+1)

n(ﬁ+1n2n+1)

6. (B) 6
©)  n(4gf1) o n(42+1)'
14. 100! ¥ 12 % 9w 2
(A) 48 (B) 97
C) 47 O o8
The exponent of 12 in 100 | is
() 48 B o7
© a7 (D) 98
w MMﬁ%WW@ﬁﬁﬁ%WWmﬁmﬁﬂm
88 cm? Bl Wﬁwvﬁmﬁwﬁwﬁnﬁéﬁmw&u@m
:mmﬁljﬁmn3%? | |
(A) 25cm (B) 15cm
(€) | 4 cm (Dj 5 cm
T = B"i:iigfgﬂ}'fffff}'ﬁgé ................................................. i




16.

17.

The difference between the outer and the inner curved surface

areas of a cylinder 14 cm long is 88 cm?. Then what will be the

sum of the outer and the inner radii of the cylinder if the volume of

the metal is 176 cm?® ?

(A) 25cm | (B) '1'5cm
(C) 4cm | D) 5cm
32024, oY 11 F WIT I R Ael T G 2
A) S (B) 6

< 7 (D) 8

What will be the remainder when 320244 95 is divided by 11 ?

(A) S - (B) 6
€ 7 | (D) 8
o 4Hi % T I A AEFOF T A T T FHE T }1 gEh i
A1 i R T 7 4 ger 8 3R T & T |
@ = B 5
11 10
(C). = . D 13

A card is drawn at random from a pack of 52 cards. Find the

probability that the card is neither an'ace nor a king.

9 ' 7

(A) T (B) 13
: 11
€ 13 (D) %

-------------------------------------------------
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18. 3R 3.7* =0.037¥ = 10000, & l—é <1 W 1 BT ?

X
A) 1 (B) | 2
(C) % (D) ¥ & %S T

Lia

If. 3.7* = 0.037Y = 10000, then whét is the value of %-— 9
(A) 1 . (B) . 2
(C) % : (D) N None of these

' | i . x,-25 . _
g i
19. AR Y fiu; =20, 3 f;=100 Wy =—— T x F AR

(A) 23 o (_B) 24

© 27 . (D) 25

it Y fu, =20, 3 £,=100 and u, =2 1_025 then the value of
x is

@) 23 - (B) 24

(C) 27 D) 25

20. Afe ww Fftad Ul W Twgfs = otk wvmw =9 % fiw W o 2 9§
Ffaw 2% gfoad Figqd.72%0 8, A @

(A) %0 6,000 (B) %o 5,000

------------------------------------------------------------------------------
----------------------------
-------------------------------------------------
..................
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If the difference between compound interest and simple interest on

a certain amount is Rs. 72 at 12% per annum for 2 years, then the

amount is
(A) Rs.6,000 (B) Rs. 5,000
(C) - Rs. 5,500 (D) Rs. 6,500

21, ML =D __c Fiamfmmana?

‘ b+c c+a a+b’

(&) (a+b+c)? (B) %
1
© % @) o
If —2— = b _c¢ then each fraction is equal to

b+c c+a a+b’

B) (a+b+c)? (B %

© @) o

il
4

2. @ e 2, 0 3 1% e R &1 P 8 w-m R 2

@A) z>Jz B) - z> i—
C 2°>2° o - >z
f;élg"é'%"j ........................... T T M T

e S ——



24.

23.

A
A number z lies between 0 and 1. Which of the following is true ?

(A) z>Jz B) z> 1
© 2°>22 - p L1,
feR am w fw % w Aftaa gem # g SR % ogehugaTd g 8l
af T 20% 1§ W 2, e # watua uREdd 7 Hil
(A) - 1666% (B) 25%
(C) -25% (D) 1666%
At constant temperature, ﬁressure of a definite mass of gas is
inversely proportional to the volume. If the pressure is reduced by
20% , find the respective change in volume. '
(A) -1666% (B) 25%
- (C) -25% (D) 1666%
bf
th=c:d e: f=g:nha &Y _
IR a: b=c e: f=g P
e+ f cg + dh
A B
5 (B) g —dh
cg — dh e-f
C D
€ gran D 77

----------------------------
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b
If a:b=c:d and e: f= g: h then ae-:b‘j,: =
e+ f cg +dh
A e~ [ttt
()_ — (B) o~ dh
cg —dh e-f
C eefs T
' cg +dh (D) e+ f

25. 500 Het i & A, 3 st it 3w da F1 1 F AT 3 : 4 21 I

et e 140 1 F B 2, @ 3& S Jl 2

a9y

(A) 1573 @) 20
(C) 25T« (D) 30 A

In a 500 m race, the ratio of the speeds of two runners Gauravi and

Preksha is 3 : 4. If Gauravi has a start of 140 m then Preksha wins

by
(A) 15m (B) 20m
4 (C) 25m (D) 30m
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